C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 228:3 = 2) 84+2=
- - 1.
2
3
3 588+2= 4 27+4= 4
5.
6.
7.
5 849+9= 6) 269+6 =
8.
0.
10.
7) 742+3 = 8) 876+6=
- 11.
12.
9) 60+2= 10) 29+2 =
11) 973+7= 12) 26+4 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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ﬂh Dividing Whole Numbers

Name: Answer Key
Solve each problem. Answers
1) 228+3= 76 2) 84+2= 42 . 76
2 42
3 294
3) 588+2=_ 294 49 27+4=_613 a 6r3
5, 94713
6. 4415
5 849:9= 94r3 6) 269+6=_ 4475 n 2T
8. 146
9. 30
10, 14r1
7) 742+3= 24711 8 876+6= 146 " 139
12 612
9 60+2= 30 10) 29+2= 14r1
11) 973+7= 139 12) 26+4= 612
CETED [F—— 3 T




